Module 4.6: Backpropagation: Computing Gradients
w.r.t. Hidden Units



Quantities of interest (roadmap for the remaining part):
o Gradient w.r.t. output units
o Gradient w.r.t. hidden units

o Gradient w.r.t. weights and biases

83(9) 83( ) 8y 803 8hz 8az C)hl 8@1

8W111 8y 8(13 8h2 6&2 8h1 8@1 anll
—— — e N —
Talk to the Talk to the Talk to the  Talk to the and now
weight directly output layer previous hidden previous  talk to
layer hidden layer the
weights

@ Our focus is on Cross entropy loss and Softmax output.
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